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General Instructions.

1 This question paper comprises two Parts — A and B. There are 30

questions in thequestion paper. All questions are compulsory.

Part A is compulsory for all candidates.

3. Part B has two options i.e. (1) Analysis of Financial Statements
and (2) Computerized Accounting. You have to attempt only one
of the given options.

4, Question nos. 1 to 10 and 23 — 27 are very short answer type questions carrying
1 mark each.

5. Question nos. 11 - 15and 28 are questions carrying 2 marks each.

6. Question nos. 16 to 20 and 29 are questions carrying 3 markseach.
7. Question nos. 21, 22 and 30 are questions carrying 5 marks each.

N

8. There is no overall choice. However, an internal choice has been
provided in 2 questions of two marks, 2 questions of three marks
and all questions of Five marks.
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Part- A

HIET-A

(Accounting for Partnership firms and Companies)
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1.X, YI¥ ZAM=AET & ST 5:3:22% SIqqd § ATH 3fiT g qied gl & qaeT & a9 & 3:22:1%
AqITT H Fied F FEAT FA gl AR 39 AT w7 oS ofie H
afagfd fog & 9w § F5 TR SUsg T80 g, 1 9g gl 1
(A) T 9 Fede & AqUTa § ArAard & Fata G amar g

i
:
!

(B) U ATH A & FAUTd H ATHGRT & faaid &har smar g

(C) gt srqura # &rEery & faaRa far smar 2

(D) fomT et TmmaS &% 92 d<i| ofic § oo FgmET S Tar §

X, Y and Z are partners sharing profits and losses in the ratio 5:3:2. They decide to share the future profits
in the ratio 3:2:1. Workmen compensation reserve appearing in the balance sheet on the date if no
information is available for the same will be :

(A) Distributed to the partners in old profit sharing ratio

(B) Distributed to the partners in new profit sharing ratio

(C) Distributed to the partners in capital ratio

(D) Carried forward to new balance sheet without any adjustment

figer Rafa fawr & [/fY § g 95 & [T F ga6 aeEr 5 a9 5 B9 5 g
S wfafe sare STt ? 1

What journal entry will be recorded for deceased partner's share in profit from the closure of last balance
sheet till the date of his death?

(A) Profit and Loss A/c ....Dr.
To Deceased Partner's Capital A/c

(B) Deceased Partner's Capital A/c ....Dr.
To Profit and Loss A/c

(C) Deceased Partner's Capital A/c ....Dr.
To Profit and Loss Suspense A/c

(D) Profit and Loss Suspense A/c  ....Dr.
To Deceased Partner's Capital A/c.

T F HEA 9T qa U g sferfaa arfEe #r 2fae R smar 2

Unrecorded liability, when paid on dissolution of a firm is debited to: 1

(A) TSI & ‘i?ﬁ GTd  (Partner's Capital A/cs)



(B)El'ﬂsvﬁ GTdar (Realisation A/c)
(C) aTfaear @TaT (Liabilities A/c)

(D) T¥afxT =TT (Asset A/c)

AEERT 9@ qaT dTAaNl Sg0d & O9Td | ATl & Iel T a............ EESIRI K
EGEL 1
In the absence of a partnership deed or partnership agreement, the mutual relations of the partners are
governed by.............

ST TF F@ T Fal TAT gl A0 HIEHGE 6 T4 G QO ATHGRI F AN FqIT FTEAET ? 1
what will be the ratio of sacrifice of the old partners at the time of admission of new partner, if nothing is
mentioned in deed?

Assertion (A): TR  TERTT TV & ATAST FT THIT I FATAT g T 9T Iy & 4
UF 9% ATHAGRT dfead # AT gl 1

Reason (R): ATHETY & HAAHIM T | HIHGHT FT TS (Reconstitution) BT SITAT
(A) (A)TAT (R)IET T g 3T (R)FAT (A)HT AT ATEAT 2
(B) (A) TT (R)IMl OF g Ti=q (R)FIT (A)Hl @l ATAT Tal 2l

(C)TMT (A)TAT (R) AT 2

(D) (A) T & 9% (R) IEA %l

Assertion (A) : Retirement of the partner results in the dissolution of the partnership and a new
partnership is formed among the remaining partners.

Reason (R) : Retirement of the partner results in the reconstitution of the partnership.

(A) Both (A) and (R) are true and (R) is the correct explanation of statement (A).

(B) Both (A) and (R) are true but (R) is not the correct explanation of statement (A).

(C) Both (A) and (R) are false.

(D) (A) is true but (R) is false.

Assertion (A): SEUTTAT 9T SATST AT & BT & ATg HFAAT H ATH g AT FIHA| 1
Reason (R) : SEUMTAT 9¥ AT FHFAAT F ATHI 9% T9X  (Charge) %I

(A) (A)TAT (R)IMT T g 3fi¥ (R)FAT (A)HT AT =ATEAT 2

(B) (A) AT (R)ETHT & & TTrq (R)FIT (A)HT HE =AT&AT Al 3

(C)FaA  (R) T Z

(D) TET (A)TAT (R) 8T 2



Assertion (A) : Interest has to be paid on debentures whether the company makes profit or loss.
Reason (R) : Interest on debentures is a charge on the profits of the company.

(A) Both (A) and (R) are true and (R) is the correct explanation of statement (A).

(B) Both (A) and (R) are true but (R) is not the correct explanation of statement (A).

(C) Only (R) is true.

(D) Both (A) and (R) are false.

8. FEOAT H ATTFT IS Fl..........HT Fgl AT Tl 1

The authorised capital of a company is also called........

9. UE FAI & fheal a1 famia faewon & am fofew) 1

Write the names of any two financial statements of a company.

10. TAATHT 2 : 1 % ATATT § ATH Aled 2| & FHT 1/3 TN I ATHATL 91T TAT| FAT AITT R : 1
A and B are partners sharing profit in the ratio of 2: 1. They admit C as a partner by giving him 1/3 share in
future profits. The new ratio will be :

(A) 2:1:1 (B) 3:1:2 (C) 4:2:3 (D) 2:1:3

11. 9g@F Ifaqfd & &9 § RO & AEd § F74T AqHT g o? 2

What is meant by Issue of Debentures as Collateral Security?

12. AT BHETHIX g S 2:1% AqATT H AT ¥ A ATAT Fd 2l ATH IT-FEd dHE ¢
AT AT AT GS(T F FT H 24,00,000 FT IREE 3T 81 BUF FAMT AR g ATHIE
oo & St 9 10% 9 a9 T T " A T FEd qrEE w 15,000 9fd A® AqT
3T FT V@Y gl IS ST da9 9 ST V&M AT F 9gd 31779, 2025/ GHIH qY & OQ
[E ATH X1,40,000 ATl SIHT ATH HT fEAqeor @ grm

2
A and B are partners sharing profits and losses in the ratio of 2: 1. A is a non-working partner and has
contributed X24,00,000 as his capital. B is a working partner. The partnership deed provides for interest
on capital @ 10% p.a. and salary of 15,000 per month to the working partner. The net profit for the year
ended 31st March, 2025 before providing for interest on capital and salary amounted to X1,40,000. You
are required to show the distribution of profit.

OR 4T
el a1 aRFafaa &7 aaee SEE qEERs & =&l Ot § 9iadd gr a@dr gl 2
List any two circumstances under which the fixed capital of partners may change.

13. 1319, 2020 FT UH HIGET FH F I 5,000 F THal dAfZd 75,000 F1 FOfr off| I +
9Sit @l ® 60,000 FT AW fommr @ T aw i R g | =) Afe fed &
AT 3T 10% 8 AT FH Al ST FT Jodisd 49T & UL Tihe T @8 9 24,000 %,
v FH FT ST AT AT L 2
On April 1, 2020 an existing firm had assets of 75,000 including cash of X5,000. The partner's capital
accounts showed a balance of 60,000 and reserve constituted the rest. If the normal rate of return is
10% and the goodwill of the firm is valued at 24,000 at 4 year's purchase of super profits, find the
average profits of the firm.

OR AY4AT
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TF grEEry ®H T AT F I9TEad F9 9T &l g2kt F A9 adrsu |

Name any two factors affecting goodwill of a partnership firm.

14. A T B UF ¥ ¥ HTHETT g1 ITHT ATH FeaTT 01T 5: 3 81 o C &l 1/4 B % forg |reerdy # aftae
FLA g1 A 3T B AT | ATH T STa-STaT qee T FHAT Fd 81 C TIHT ISiT o &9 § X1,20,000 T
ST % =9 7 60,000 ATAT &1 TN ST =l T ¢ AT 6 LT L AGAF T TAT9T ] T e
o ¢ grer @rg w sfifeaw it wfer sraem ®§ wi 3 2
A and B are partners in a firm. Their profit sharing ratio is 5: 3. They admit C into partnership for 1/4th
share. As between themselves A and B decide to share profits equally in future. C brings in 1,20,000 as
his capital and 260,000 as premium. Calculate the sacrificing ratio and record the necessary journal
entries on the assumption that the amount of premium brought in by Cis retained in business.

15. STAHIA T FIA ATl ATAST A &F ATX H F H qW AT Fle &7 FIQAT @l 2

State any two items of deduction that may have to be made from the amount payable to a retiring
partner.

16. QI T STeAT S q: 91 o forw sieier wfafeat & 3
T ferfees 7 X2 I QT f T8t e & SEIAT 7 L 9 10 T4 6 1,000 AT S50 & [o1T, X7 Hfel 31,
20% = TTH=H 92 AT Fo70 70 (3fTee o T80T qEUam AT STHET A7)| 3948 €, 600 937 X7 U2 399 & 7 H 4
st 9 = e & g fAetfaa g o)

Give journal entries for forfeiture and re-issue of shares:
A Ltd. forfeited 1,000 shares of 10 each, X7 called up, issued at a premium of 20% (to be paid at the time

of allotment) for non-payment of a first call of X2 per share. Out of these, 600 shares were re-issued as X7
paid up for 4 per share.

17. 7S T FFATIAT 5,00,000%; F T 1,00,000%; FFTRIAT 3 &5 & YT 0T 4,20,000% TAT AT AT
5,000% I T aGEAT @Td il ATH-ZI Fohaeit gt ? 3
If total assets are X5,00,000; total liabilities are 1,00,000; amount realised on sale of assets is ¥4,20,000
and realisation expenses are X5,000, what will be the profit or loss on realisation.

18. #ivw ferfies 7 &vw forfares i1 210,00,000 T HfxT #f¥ 1,80,000 FT IAGTRAT FI X7,60,000 H T
e T foram e ferfiee 7 e ferffes % 7er § @i gog 1 07 §qf2  forg 5% it gz 72 100
T o 9% ST ST<T {h|
ST AF-a7 & forw e ferfaes it geast § sirasasd e gafafegt 31
FOTTT ST 4 T2 e i T 0190 & 9 T | ST T =i forgm =
Venus Ltd. took over assets of 210,00,000 and liabilities of 21,80,000
of Cayns Ltd. for %7,60,000. Venus Ltd. issued 9% Debentures of 2100
each at a discount of 5% in full satisfaction of the purchase
consideration in favour of Cayns Ltd.

Pass necessary journal entries in the books of Venus Ltd. for the above
transactions.

It was decided to write off the entire amount of discount on issue of
debentures.

19. TH FH H U, ff JAT H A9 F 2:1:2 & FAAIG § dled gU ATHAG gl I
ot g™t wHer: 1,80, 000%; 60,0003 @97 1,20,000% T 31 ®@T€, 2022 & AN
FT F T oS 9 ;S 10% Taay H d9AT 9% Ty Hf X F AT T=7 9SH 9¥ ST
T H Q@ AT A ATH 1,50,000% ATl AELTF THMENA (G@TT O THMENSA AAE

3
A, B and C are partners in a firm sharing profit and loss in the ratio
of 2: 1: 2. Their fixed capitals were %1,80,000; 260,000 and %1,20,000
respectively. Interest on capital for the year ended 31st March 2022,
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was credited to them @ 9% per annum instead of 10% p.a.
the year before charging interest was %1,50,000.

after showing necessary adjustment

OR 4T

The profit for
Pass adjustment entry

If the Partner’s capital Account is Fixed where will you record the following items:
(1) Drawing made by a Partner

(3) Share of Profit
(5) Interest on drawings

(2) Salary payable to a partner

(4) Fresh capital Introduced by a Partner
(6) Interest on Capital

TfT dmEEr #1 O grar o g ar s Fwfofeaa 98 &1 #igf &S0 9

(1) 9TAIIY g ATg LU

(3) @9 & RBEAT
LERR G

(5) SMETO U AT

20.

(2) H|THST FT 2T a99

(4) TF HTHASR ZIET A2 TS

(6) TUSMt 9T =TS

T, T T AHEAT 20%, 30% 3T 50% F ®F H ATH ATAT FIA a1 ATHIR

gl F] T AT GTHG A GG | HATHGT B AT FEAr AT S eraar BEm 69q
w a9 AT =rfa &1 gedisd 9 aul & iEd qATh 6 &le AT @ @de 97 A

o o

TAT ATI T 9 qUT 6k ATH 50,000, 270,000 3T 260,000 | IAAT HATE]
% T doig ofic ¥ smfera [T 230,000 N srar & AT FETAGRT 9T SU
T R#E T & O aaegs® Sed IEeal Rale fed & aaedswar gl et

T ITOF AN ¥ Tgd 99 Joiq ofic § IHEr G 99 2 1,00,000 AT, qr IH
I M FT 9GT TR 6 o IEHT GSif @rar @ a3 w3

Kanu,
and 50%.

Manu and Akansha are partners sharing profits as 20%,
Kanu decided to retire with the consent of other
partners and sold her share to Manu.

30%

Goodwill was valued at two

and a half years purchase of the average profits of three years.

Profits of these three years were 350,000,

70,000 and %60,000.

Reserve fund stood in the balance sheet at 30,000 at the time of
You are required to record necessary journal
entries to record above adjustments on Kanu's retirement. Also
prepare her capital account to find out the amount due to her
when her capital balance in the balance sheet was T 1,00,000

her retirement.

before any above adjustments.

21. T qAT fF ST AT FT 2 1 ® dled g, & 31 ®m= 2022 @& Fgfq @
wforfea g 5
i qa-
IR RS Ii] R
5§
g% srfafasd 15,000 I
o wue 12,000 40,000 36,400
20,000 MR o 20,000
élflgw' 3 200 25,000
ECIE 40,000 2207 2,000
A 30,000 terh 33,600




B 1,17,000 T 1,17,000

EECA]

wofe

1 31, 2022 FT Iegid | FT ATHAGET § AT BFAm F91 a9 fEramse s 3/6:2/6
1/6 gom Aeiferd qamSETe F 9t #Y v A e BEr % e OSft amar g
1.# 10,0002 =Y F 3w REr F forw @@e ¥ @mar @

2. §fE¥y T AAISH H 2,0003 F HEET 2

3.UF AT 2EUTEeY g SEaT o7 2,600% 81 I8 TEa&i | di for@r gom gl =H 9F el
H fergaT 2

4. TFET FT oA A Bl
5.99a # 2% g e & qeareaEr 2l
KGR GRIETIRCIC IR C e R U e B O B i A e K e

A and B sharing profits in the ratio of 2 : 1 have the following balance sheet as on March 31, 2022
Balance Sheet

Laibilities Assets S
2

Bank overdraft 15,000 Debtors

Reserve fund 12,000 40,000 36,400

Creditors 20,000 Less: provision 20,000

Capital: 3,600 25,000

A 40,000 Stock 2,000

B 30,000 Building 33,600
517,600 Patents 1,17,000

Machinery

They admitted C into partnership on 1st April, 2022. New profit-sharing ratio is agreed as 3/6: 2/6:1/6. C
brings in proportionate capital after the following adjustments:

1. C brings in cash for his share of goodwill of X 10,000.

2. The provision for doubtful debts is to be reduced by X 2,000.

3. There is an old typewriter worth X 2,600. It is not written off in the books. It is to be written off in the
books now.

4. The value of a patent is zero.

5. There is a possibility of getting a discount of 2% from creditors.

OR 34T
3T fAwat #r fofae Ses qqEee F 0 90 9@En & J990 99 aaedsmdr gl gl

Mention the various matters that need adjustments at the time of admission of a partner.

22. SErU ferfies T 100 T 9917 % 2,00,000 T A2t i STTARa Gl o |1 dStiehd (R IT3T AT| FHoet
7 25% feaw a7 grasrfas Teegar # 1w 60,000 9= 997 fFU) sraEs U% 240 37 HfETw F aver swaeT
I AT TTFLT 3 ofF | ST 7 85,000 U T SAraraw AT o471 ATl e 5:4 % SqOTa § AT wAw
T 31T AT ATAEAT 0l T T AT IT4T AT
4,000 ST T@ AT AT SATHE SMaed LT FT SFIATT FLel | TSR T ST Ik QAT STed L (0 T0| 76 |
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3,000 L% 20 T &7 it ge O T & ST 360 0| il 39 TRAT @Al @iasd A U forfHee il Teaai
T e gfafegt w7 5

OTUA Ltd. was registered with an authorised capital of 2,00,000 equity shares of X100 each. The company
offered 60,000 shares for public subscription at 25% premium. The amount was payable as %40 on
application and balance on allotment, with premium. Public had applied for 85,000 shares. Pro-rata
allotment was made in the ratio of 5 : 4 and remaining applications were sent letters of regret.
Mr. Anand holding 4,000 shares failed to pay allotment money and his shares were forfeited. Out of
these, 3,000 shares were re-issued at a discount of 20 per share. Pass necessary entries in the books of
OTUA Ltd. by opening Calls in Arrears A/c.

OR 4T
dont F ATAEE' H AT AT HAT g 2 AT -ATHE AT SreT-AfHE A aqrs v
What do you understand by 'Subscription of Shares'? Differentiate between 'Over-Subscription' and
'Under-subscription'.

Part—B
HOET-9
(Analysis of Financial statements)
fa<hg Rewon =t
EELL
23. o=t fa@wont & # smeT g2 1
What is meant by 'Financial Statements'?
24, 9 & § F-HT fa<hig Eawort ft T 81 2 | 1
(A) =R Aot & garfaa
(B) T[OTTCH =T T AT
(C) 31> fomat & watfera
(D) SrEToha a=g

Which of the following is not a limitation of financial statements
(A) Influenced by Pesonal Judgements
(B) Omission of Qualitative Information
(C) Affected by Window-dressing
(D) Recorded Facts
25. 9% Afafawyd ® FHT F FA-°1 Tramet F seaviq fGEma § 2 1

Under which activities the decrease in bank overdraft is shown?

26. Assertion (A): ffeaw w=iw ® i & o9 agar 2 1
Reason (R): fva® ®=i® # ghyg & oo TT ATA Hil @Wd Hedl gl
(A) (A)TIT (R) T HF & T (R)FAT (A)F el =ATAT 2
(B) (A) TAT (R) Il & & 9%q (R)FIT (A)HT Hel ATEAT Tal gl
(C)Fad (R) T %l
(D) T (A)TAT (R) A 2

Assertion (A): An increase in closing stock increases profit.

Reason (R): An increase in closing stock decreases cost of goods sold.

(A) Both (A) and (R) are true and (R) is the correct explanation of statement (A).

(B) Both (A) and (R) are true but (R) is not the correct explanation of statement (A).
(C) Only (R) is true.

(D) Both (A) and (R) are false.

27. HATAT AT (Operating Profit) = Gross Profit - ........cc.ceeveevenne.. 1
9



28. fa<iy foawont & #E a1 ITART A

Give any two uses of financial statements.

29. THET & F TRATAT F ITH T[S+ X6,00,000 g1 THHT Tra el AT AT 3 I[AT g1 AT THA ATH AATT
25% &, AT TEhT TTLIHF Tradl 3T THTIA Tracl il 0T 3| T Tradt THTI Teadl T 25% 2
3

The Revenue from operations of a firm is X6,00,000. Its inventory turnover ratio is 3 times. If gross profit
ratio is 25%, calculate its opening inventory and closing inventory. The opening inventory is 25% of closing

inventory.

OR &
T dad AqITT # g o | IF Tl drad AqITa #4T VRE #war g ?

Write the formula of inventory turnover ratio. What is indicated by High Inventory Turnover Ratio?

30. Mafofaa SRy § e wfafatest & Tt yarg &t 7= i ToET Fw:7: 5
From the following information calculate the amount of Cash Flows from Investing Activities:
Particulars 31.03.2021 31.03.2022
X X
Plant and Machinery =ie =it #¢fa 8,50,000 10,00,000
Non Current Investments ¥ =T fHerer 40,000 1,00,000
Land (At cost) & (AT ) 2,00,000 1,00,000
AR SITHHIR:
(1) e ST Fefa 9% RET =0 o7 gE 50,000 A7)
(ii) k60,000 F FF 9 AT e T HAALT FT 40,000 F =T TATI
(iii) ST T X60,000F SATH UT S=T AT
Additional Information:
(1) Depreciation charged on Plant and Machinery was X50,000.
(ii) Plant and Machinery with a book value of 60,000 was sold for 40,000.
(iii) Land was sold at a gain of 60,000
OR 4T
TwE yaTg fFEver & @ v 8?2 Awe varg faawr & Gl 9 e &1 Sem w9
What is a Cash Flow Statement? Mention any four limitations of Cash Flow Statement.
Part— B
(Computerised Accounting)
23. FFEELFA @I TUTAT & foheel &l gedl & 48 forfaw | 1
Name any two components of computerized accounting system .
24, FFASOFA @l oA F TAYE F ®Y H odr g oF gErtam G Smar g R
T F= & o F qreAw )
Computerised Accounting system takes (i) as inputs which are processed 1
through (ii) __ togenerate reports.
25. @Ml % dHg a9 & fou Ter wr Fufofag & i § affea e 8 1

(A)Fafr, FFaIiREt sie Oeft
(B) #vfxr, miferst ff =fFt, o & =
(C) #9Rr, USif, IAGIRAT, IToed X =7
(D) USM, TorEd 3T T
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The data is classified for creating groups of accounts in the heads of :
(A)  Assets, Liabilities and Capital
(B)  Assets, Owners’ equity, Revenue and Expenses

(C)  Assets, Capital, Liabilities, Revenue and Expenses
(D) Capital, Revenue and Expenses

26.A1 : UFHA H E2 HIHA FAT B 1
(A) THEA fie UT FwAH

(B) THFA ofic wx ufxw

(C) wHA ofic F R T fq fagen F dfiw wew

(D) TFA fic W T 7 T F AT F=Aw

Al : E2in Excel refersto:
(A)  Column on Excel sheet
(B) Row on Excel sheet

(C)  Column between start and end points of Excel sheet
(D)  Alphabets between A to E on Excel sheet.

27%&%%%@@%@&%%#@%
p) TSt &t F@mEe F FO ST @7 AT T groawdr gl
B) =eT 8T & forw w=or 2
C) =er g Tt & forw Iuersy 98l #arm Srar 2l
(D) aﬁﬁﬁﬁaﬁ'{wﬁﬁgﬁqﬁmaﬁaﬁmﬂwﬁ
Which of the following is not a limitation of Computerised Accounting system?
(A) Data may be lost or corrupted due to power interruptions.
(B) Data is prone to hacking.

(C) Data is not made available to everybody.
(D)  Unprogrammed and un-specified reports cannot be generated

28. "ATHAE" ST HAANAFH' FHIS Al ATAT F
2
Explain ‘Sequential’ and ‘Mnemonic’ codes.

29. UTE | 7 aread 82 T fheal 2 @19l v =mer fifom)

What is meant by a graph? Explain any of its 2 advantages.

OR 341

AT Fideaqy § U & Uy g arer fheel di YR o ATSHl Al SETELUll i Hgradl
T =T AT

Explain any three types of vouchers used for entry in Tally software with the help of examples.

30. foFeft o AT W § ST HEATRd W B 9¥ fRErE I Al Al @ ugAl =9
AME F FH FIRT ST GHal g2 ATEAT HLATI 5
11



Identify the error that appears when there are invalid numeric values in a formula or function. How can this
error be rectified? Explain.

OR 34t
FEAAE Aiwe o et Teefie F ITAR Fd T IS FIe F &R0 &

Give an example of payroll template using spreadsheet taking imaginary figures.
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